Al A

2

M £ 6 & AHS 3
0248% =3 1 3 el S8+ 3N ~ S8+ A=50
FA S8+ XA
3 FR0E IZRY
e AYESAE JISEH (Cte: M
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ORSAANHHA DAL J|2HH ol 12,506 0 12,506

oJEa 78,8021+ 124526262 12,306 0 12,306
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10,000,000& 10,000 0 10,000
OZANIS S&EZ2Y =Y
2,840,000& 2,840 0 2,840
OLAN2E LHIRY S S
10,000,000& 10,000 0 10,000
402 2I”FXH=01 A 222,459 203,899 18,560
01 QI XHZ AL E (KM THE) 222,459 203,899 18,560
ouZtAmA=s B2 MHES
64,000,000 64,000 61,000 3,000
O2sEE 2Bz S+ S
7,270,000 7,270 7,270
OBUE Mareldz2d s+ S
9,999,000 9,999 9,99 0
OZA1S FSIZY S+ S
8,290,000& 8,290 8,290
dE2Y FIIBA & 22| 127,069 10,800
402 2I2EXH201H 58,700 10,800
01 QIZIXHZ2 AL 2 (KM TH ) 88,700 10,800
O2ss &2 NS INE=E 4,200 0 4,200
Odd 1,500, 0002 *1CH 1,500 0 1,500
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WSS =828 1,500 0
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= 15,000 0 15,000
Al 15,434,193 12,774,653 2,659,540
Neaggdst ZADExY 8,668,922 6,187,922 2,481,000
= 15,000 0 15,000
Al 8,653,922 6,187,922 2,466,000
CE12m02tel TAIHEEZ JHE 2,848,8% 1,624,896 1,224,000
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01 Al 570,000 420,000 150,000
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O 4l 850,000,000 850,000 700,000 150,000
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01 AlZHI 200,000 0 200,000
OS24l 200,000,000 200,000 0 200,000
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ZOOIAZE 14,0003 %4500 63,000 21,000 42,000
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OZZ2oFAILE RS
220,000,0002 220,000 120,000 100,000
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OXSE 500-1#1K L8 OLARGIM S| AL
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